

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form **990-PF**

EXTENDED TO NOVEMBER 15, 2016
Return of Private Foundation
or Section 4947(a)(1) Trust Treated as Private Foundation

Do not enter social security numbers on this form as it may be made public. ▶ Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf.

OMB No 1545-0052 Open to Public Inspection

Depa	rtmer	nt of the Treasury		social security numbers on m 990-PF and its separate				2010
		venue Service Intornation In		ili 990-FF aliu its separate	and er .		s.govnomiaaopi.	Open to Public Inspection
		f foundation			, and er	iding	A Employer identification	number
_		D000 0011DTM1DT	-	m T O V			00 500046	
		ROSS CHARITABL			- 1		20-5309346	
		and street (or P O box number if mail is r • BOX 690960	not delivered to street	address)		Room/suite	B Telephone number 918-234-76	75
		own, state or province, country, ar	nd ZIP or foreian p	ostal code			C If exemption application is p	
		SA, OK 74169-0		<u></u>			o w exemplion application is p	oriality, criccit ricit
G (Check	call that apply: Initial r	eturn	Initial return of a fo	ormer public c	harity	D 1. Foreign organizations	s, check here
		Final re		Amended return			Foreign organizations me check here and attach co	eting the 85% test.
			ss change	Name change kempt private foundation			1	
Ϊ,	_	ection 4947(a)(1) nonexempt chari		Other taxable private founda	ation		E If private foundation state under section 507(b)(1)	
l Fi		arket value of all assets at end of ye			Accri	ual	1	
		Part II, col (c), line 16)		ther (specify)			F If the foundation is in a (under section 507(b)(1)	
	-\$	1,647,80	1. (Part I, colu	mn (d) must be on cash t	basis)			(0), 000
Pa	art I		ises	(a) Revenue and expenses per books	(b) Net inv		(c) Adjusted net	(d) Disbursements for charitable purposes
	1	Contributions, gifts, grants, etc., i		250,000.			N/A	(cash basis only)
.	2	Check from if the foundation is not requ		230,0001			11/21	
	3	Interest on savings and temporary cash investments						
9	4	Dividends and interest from secu	rities	29,386.	2:	9,386.		STATEMENT 1
$\tilde{\sim}$	5a	Gross rents						
	b	Net rental income or (loss)						
\exists :	6a	Net gain or (loss) from sale of assets no Gross sales price for all		3,296.				70
ē, ,	_ b	assets on line 6a	<u>3,376.</u>			3,296	ECEIVED	
ПĘ	7	Capital gain net income (from Part IV, lii Net short-term capital gain	ne 2)					
$\mathbb{Z}_{\mathbb{Z}}$	٩	Income modifications				Š	рст 1 1 2016 - ў	
SCANNFE OC	10a	Gross sales less returns and allowances					, and a second	
Q	Ь	Less Cost of goods sold					GDEN UT	
(S)	C	Gross profit or (loss)						3
	11	Other income		232.		232.		STATEMENT 2
	12	Total Add lines 1 through 11		282,914.	3.	<u>2,914.</u>		
	13	Compensation of officers, directors, tru		0.		0.		0.
	14	Other employee salaries and waging Pension plans, employee benefits						
es	15 16a	Legal fees	•					
ens		Accounting fees						
Εx		<u> </u>	STMT 3	2,500.		0.		2,500.
and Administrative Expenses	17	Interest		331.		0.		2,500. 331.
trat	18	Taxes				•		
inis	19	Depreciation and depletion						-
Ę	20	Occupancy		1 054				4 554
ΑÞ	21	Travel, conferences, and meeting:	S	1,254.	. <u>-</u> -	0.		1,254.
gar	22 23	Printing and publications Other expenses	STMT 4	10,638.		461.		10,177.
ti.	24	Total operating and administrati		10,030.		401.		10,17.
Operating	- '	expenses Add lines 13 through 2		14,723.		461.		14,262.
ō	25	Contributions, gifts, grants paid		230,272.				230,272.
	26	Total expenses and disbursemen	nts					
		Add lines 24 and 25		244,995.		461.		244,534.
	27	Subtract line 26 from line 12:]				
		Excess of revenue over expenses and d		37,919.		2 152		
	1	Net investment income (if negative Adjusted net income (if negative, er			3,	<u>2,453.</u>	N/A	
			··· ,	<u>. </u>	_		74 / X2	L .

Form **990-PF** (2015)

Foi	m 99	00-PF (2015) THE ROSS CHARITABLE FOU	NDATION	20-	5309346 Page 2
	art	Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only	Beginning of year	End of	
LP	aπ	Column should be for end-of-year amounts only	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash - non-interest-bearing	1,087,770.	365,212.	365,212.
	2	Savings and temporary cash investments			
	3	Accounts receivable ► 4,358.			
		Less: allowance for doubtful accounts ▶	1,998.	4,358.	4,358.
	4	Pledges receivable ►			
		Less; allowance for doubtful accounts ▶			
	5	Grants receivable			
	6	Receivables due from officers, directors, trustees, and other			
		disqualified persons			
	7	Other notes and loans receivable			
		Less; allowance for doubtful accounts			
S	8	Inventories for sale or use			· · · · · · · · · · · · · · · · · · ·
Assets	9	Prepaid expenses and deferred charges			
As		Investments - U.S. and state government obligations			
	Ь	Investments - corporate stock			
	1	Investments - corporate bonds			
	1	Investments - land, buildings, and equipment basis			
		Less accumulated depreciation			
	12	Investments - mortgage loans			
	13	Investments - other STMT 5	865,634.	1,278,231.	1,278,231.
		Land, buildings, and equipment: basis ▶	339,0321		
	' '	Less accumulated depreciation			
	15	Other assets (describe ▶)			
	1	Total assets (to be completed by all filers - see the	-		
		instructions. Also, see page 1, item I)	1,955,402.	1,647,801.	1,647,801.
	17	Accounts payable and accrued expenses			
	18	Grants payable			
s	19	Deferred revenue			
Liabilities	20	Loans from officers, directors, trustees, and other disqualified persons			
ā	21				
Ĩ	1	Other liabilities (describe ► MARGIN LOAN)	284,418.	0.	
		,			
	23	Total liabilities (add lines 17 through 22)	284,418.	0.	
		Foundations that follow SFAS 117, check here			
		and complete lines 24 through 26 and lines 30 and 31			
es	24	Unrestricted			
auc	25	Temporarily restricted			
Bal	1	Permanently restricted			
Б		Foundations that do not follow SFAS 117, check here			
Ī		and complete lines 27 through 31.			
õ	27	Capital stock, trust principal, or current funds	1,478,799.	1,478,799.	
set	28	Paid-in or capital surplus, or land, bldg., and equipment fund	0.	0.	
As	29	Retained earnings, accumulated income, endowment, or other funds	192,185.	169,002.	
Net Assets or Fund Balances	30	Total net assets or fund balances	1,670,984.	1,647,801.	
_					
	31	Total liabilities and net assets/fund balances	1,955,402.	1,647,801.	
P	art	III Analysis of Changes in Net Assets or Fund B	alances		
1	Total	net assets or fund balances at beginning of year - Part II, column (a), line	30		
•		st agree with end-of-year figure reported on prior year's return)		1	1,670,984.
2		r amount from Part I, line 27a		2	37,919.
		r increases not included in line 2 (itemize)		3	0.
		lines 1, 2, and 3		4	1,708,903.
		eases not included in line 2 (itemize) UNREALIZED GAI	NS/LOSSES	5	61,102.
		net assets or fund balances at end of year (line 4 minus line 5) - Part II, co			1.647.801.

164,457.

244,534.

7

7 Add lines 5 and 6

See the Part VI instructions.

8 Enter qualifying distributions from Part XII, line 4

If line 8 is equal to or greater than line 7, check the box in Part VI, line 1b, and complete that part using a 1% tax rate.

			<u>09346</u>		Page 4
	ert VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4940(c)	<u> 148 - se</u>	e instru	OITO	ns)
1a	Exempt operating foundations described in section 4940(d)(2), check here and enter "N/A" on line 1.				
	Date of ruling or determination letter: (attach copy of letter if necessary-see instructions)				
b	Domestic foundations that meet the section 4940(e) requirements in Part V, check here 🕨 🔀 and enter 1%	1		3	<u> 25.</u>
	of Part I, line 27b				
	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).				
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)	2			0.
3	Add lines 1 and 2	3		3	25.
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)	4			0.
5	Tax based on investment income Subtract line 4 from line 3. If zero or less, enter -0-	5		3	<u>25.</u>
6	Credits/Payments:				
а	2015 estimated tax payments and 2014 overpayment credited to 2015				
b	Exempt foreign organizations - tax withheld at source 6b				
C	Tax paid with application for extension of time to file (Form 8868) 6c	-			
d	Backup withholding erroneously withheld 6d				
7	Total credits and payments. Add lines 6a through 6d	7			0.
8	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached	8			
	Tax due If the total of lines 5 and 8 is more than line 7, enter amount owed SEE STATEMENT 6	9		3	25.
	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid	10			
	Enter the amount of line 10 to be: Credited to 2016 estimated tax ▶ Refunded ▶	11			
	rt VII-A Statements Regarding Activities			 	
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene	ın		Yes	No
	any political campaign?		1a		X
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for the definition)	?	1b		х
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials publishe				
	distributed by the foundation in connection with the activities.				
C	Did the foundation file Form 1120-POL for this year?		1c		X
	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:				
	(1) On the foundation. \triangleright \$ 0. (2) On foundation managers. \triangleright \$ 0.				
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation				
	managers. ►\$ 0.				
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?		2		х
	If "Yes," attach a detailed description of the activities				
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or	<i>:</i>			
	bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes		3		х
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?		4a		X
b	If "Yes," has it filed a tax return on Form 990-T for this year?	N/A	4b		
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?		5		Х
	If "Yes," attach the statement required by General Instruction T				
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:		Ì		
	By language in the governing instrument, or				
	• By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state	law	ŀ		
	remain in the governing instrument?		6	Х	
7	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c), and Part XV		7	Х	
8a	Enter the states to which the foundation reports or with which it is registered (see instructions)		ļ		
	OK				
b	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)		_		
	of each state as required by General Instruction G? If "No," attach explanation		8b	X	
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for caler	ıdar			_
	year 2015 or the taxable year beginning in 2015 (see instructions for Part XIV)? If "Yes," complete Part XIV		9	L_	X
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and addresses		10		Х
			- 004	DE	10015

X

3b

4a

Yes X No

N/A

during the year?

3a Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time

4a Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?

Form 4720, to determine if the foundation had excess business holdings in 2015)

had not been removed from jeopardy before the first day of the tax year beginning in 2015?

b If "Yes," did it have excess business holdings in 2015 as a result of (1) any purchase by the foundation or disqualified persons after May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest; or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C.

b Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that

Part VII-B Statements Regarding Activities for Which		Required (contin	<u> 20-33033</u> ued)	40 Page				
5a During the year did the foundation pay or incur any amount to:		. (
(1) Carry on propaganda, or otherwise attempt to influence legislation (sectio	n 4945(e))?	Y6	s X No					
(2) Influence the outcome of any specific public election (see section 4955); or to carry on, directly or indirectly,								
any voter registration drive?			es X No					
(3) Provide a grant to an individual for travel, study, or other similar purposes		Ye	es X No					
(4) Provide a grant to an organization other than a charitable, etc., organization	n described in section							
4945(d)(4)(A)? (see instructions)			es X No					
(5) Provide for any purpose other than religious, charitable, scientific, literary,	, or educational purposes, or							
the prevention of cruelty to children or animals?	d		es X No					
b If any answer is "Yes" to 5a(1)-(5), did any of the transactions fail to qualify un	•	in Regulations	NT / A	_{EL}				
section 53.4945 or in a current notice regarding disaster assistance (see instru Organizations relying on a current notice regarding disaster assistance check t	•		N/A	5b				
c If the answer is "Yes" to question 5a(4), does the foundation claim exemption f		uned						
expenditure responsibility for the grant?		N/A ☐ Ye	es No					
If "Yes," attach the statement required by Regulations section 53 494		-, <u>-</u> 16	.5 140					
6a Did the foundation, during the year, receive any funds, directly or indirectly, to								
a personal benefit contract?	الا ماالمانات الم رسم	☐ Ye	es X No					
b Did the foundation, during the year, pay premiums, directly or indirectly, on a p	personal benefit contract?			6b X				
If "Yes" to 6b, file Form 8870				1 1				
7a At any time during the tax year, was the foundation a party to a prohibited tax s	shelter transaction?	Y6	es X No					
b If "Yes," did the foundation receive any proceeds or have any net income attribu	utable to the transaction?			7b				
Part VIII Information About Officers, Directors, Trust Paid Employees, and Contractors	ees, Foundation Ma	anagers, Highly	У					
1 List all officers, directors, trustees, foundation managers and their	compensation.							
(a) Name and address	(b) Title, and average hours per week devoted to position	(c) Compensation (If not paid, enter -0-)	(d) Contributions to employee benefit plans and deferred compensation	(e) Expense account, othe allowances				
JESSE H. ROSS	CHAIRMAN/PRES	·	·					
PO BOX 690960								
TULSA, OK 74169-0960	1.00	0.	0.	0				
	DIRECTOR/SECF	ETARY						
PO BOX 690960								
TULSA, OK 74169-0960	1.00	0.	0.	0				
	DIRECTOR/TREA	SURER						
PO BOX 690960				_				
TULSA, OK 74169-0960	1.00	0.	0.	0				
	-							
	1							
2 Compensation of five highest-paid employees (other than those inc	luded on line 1). If none.	enter "NONE."	L					
(a) Name and address of each employee paid more than \$50,000	(b) Title, and average hours per week devoted to position	(c) Compensation	(d) Contributions to employee benefit plans and deferred compensation	(e) Expense account, othe allowances				
NONE				2				
	1							
Total number of other employees paid over \$50,000			▶	(

Form 990-PF (2015) THE ROSS CHARITABLE FOUNDATION	20-	<u>5309346 </u>
Part VIII Information About Officers, Directors, Trustees, Found Paid Employees, and Contractors (continued)	ation Managers, Highly	
3 Five highest-paid independent contractors for professional services. If none, enter	er "NONE."	
(a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
NONE		
		
Total number of others receiving over \$50,000 for professional services		▶ 0
Part IX-A Summary of Direct Charitable Activities		- 1
List the foundation's four largest direct charitable activities during the tax year. Include relevant state number of organizations and other beneficiaries served, conferences convened, research papers pro	stical information such as the duced, etc.	Expenses
1N/A		<u>-</u>
2		
3		
4		
4		
Part IX-B Summary of Program-Related Investments		A
Describe the two largest program-related investments made by the foundation during the tax year of N/A	ines 1 and 2.	Amount
I N/A		
2		
· · · · · · · · · · · · · · · · · · ·		
All other program-related investments See instructions.		·
3		
Total. Add lines 1 through 3	>	0.

Р	Minimum Investment Return (All domestic foundations must complete this part. Foreign four	idations,	see instructions)
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes:		
a	Average monthly fair market value of securities	1a	1,064,857.
	Average of monthly cash balances	1b	511,122.
	Fair market value of all other assets	1c	265.
d	Total (add lines 1a, b, and c)	1d	1,576,244.
е	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation) 1e 0.		
2	Acquisition indebtedness applicable to line 1 assets	2	0.
3	Subtract line 2 from line 1d	3	1,576,244.
4	Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions)	4	23,644.
5	Net value of noncharitable-use assets Subtract line 4 from line 3. Enter here and on Part V, line 4	5	1,552,600.
6	Minimum investment return. Enter 5% of line 5	6	77,630.
Р	Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations an foreign organizations check here and do not complete this part.)	d certain	
1	Minimum investment return from Part X, line 6	1	77,630.
2a	Tax on investment income for 2015 from Part VI, line 5		
b	Income tax for 2015. (This does not include the tax from Part VI.)		
C	Add lines 2a and 2b	2c	325.
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	77,305.
4	Recoveries of amounts treated as qualifying distributions	4	. 0.
5	Add lines 3 and 4	5	77,305.
6	Deduction from distributable amount (see instructions)	6	0.
7	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1	7	77,305.
Р	Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:		
a	Expenses, contributions, gifts, etc total from Part I, column (d), line 26	1a	244,534.
b	Program-related investments - total from Part IX-B	1b	0.
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the:		
a	Suitability test (prior IRS approval required)	3a	
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	244,534.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment		
	income. Enter 1% of Part I, line 27b	5	325.
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	244,209.
	Note The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation of 4940(e) reduction of tax in those years.	jualifies fo	or the section

Part XIII Undistributed Income (see instructions)

				
,	(a) Corpus	(b) Years prior to 2014	(c) 2014	(d) 2015
1 Distributable amount for 2015 from Part XI,	00,700	1 out o prior to 20 11		2010
line 7				77,305.
2 Undistributed income, if any, as of the end of 2015				77,303.
a Enter amount for 2014 only			0.	
b Total for prior years:				
g retained prior yours.		0.		
3 Excess distributions carryover, if any, to 2015:				
a From 2010 95,593.				
b From 2011 126, 413.				
c From 2012 77,122.				
d From 2013 5,972.				
e From 2014 34,911.				
f Total of lines 3a through e	340,011.			
4 Qualifying distributions for 2015 from	010/0110			
Part XII, line 4: ►\$ 244,534.				
a Applied to 2014, but not more than line 2a			0.	
b Applied to undistributed income of prior				
years (Election required - see instructions)		0.		
c Treated as distributions out of corpus	-	•		
(Election required - see instructions)	0.			
d Applied to 2015 distributable amount				77,305.
e Remaining amount distributed out of corpus	167,229.	,,	" · ·	77,505.
5 Excess distributions carryover applied to 2015	0.			0.
(If an amount appears in column (d), the same amount must be shown in column (a))				<u> </u>
6 Enter the net total of each column as indicated below:				
a Corpus Add lines 3f, 4c, and 4e Subtract line 5	507,240.			·
b Prior years' undistributed income. Subtract				
line 4b from line 2b		0.		
c Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed		0.		
d Subtract line 6c from line 6b. Taxable				
amount - see instructions		0.		
e Undistributed income for 2014. Subtract line				
4a from line 2a. Taxable amount - see instr.			0.	
f Undistributed income for 2015. Subtract				
lines 4d and 5 from line 1. This amount must				
be distributed in 2016				0.
7 Amounts treated as distributions out of				
corpus to satisfy requirements imposed by				
section 170(b)(1)(F) or 4942(g)(3) (Election				
may be required - see instructions)	0.			
8 Excess distributions carryover from 2010	"			
not applied on line 5 or line 7	95,593.			
9 Excess distributions carryover to 2016				
Subtract lines 7 and 8 from line 6a	411,647.			
0 Analysis of line 9:				
a Excess from 2011 126, 413.				
b Excess from 2012 77, 122.				
c Excess from 2013 5,972.				
d Excess from 2014 34,911.				
e Excess from 2015 167, 229.				
				Corm 000 DE (0015)

	S CHARITABL				09346 Page 10	
Part XIV Private Operating F	oundations (see ins	structions and Part VII	l-A, question 9)	N/A		
1 a If the foundation has received a ruling of	r determination letter that	it is a private operating	İ			
foundation, and the ruling is effective fo	2015, enter the date of t	he ruling	▶ ∟			
b Check box to indicate whether the found	lation is a private operatir	ng foundation described	in section	4942(j)(3) or 4942(j)(5)		
2 a Enter the lesser of the adjusted net	Tax year		Prior 3 years			
income from Part I or the minimum	(a) 2015	_(b) 2014	(c) 2013	(d) 2012	(e) Total	
investment return from Part X for						
each year listed						
b 85% of line 2a	· · · · · · ·				·	
c Qualifying distributions from Part XII,					-	
line 4 for each year listed						
d Amounts included in line 2c not						
used directly for active conduct of						
exempt activities						
e Qualifying distributions made directly		· = -				
for active conduct of exempt activities.						
Subtract line 2d from line 2c						
3 Complete 3a, b, or c for the	j .			·		
alternative test relied upon:						
a "Assets" alternative test - enter:(1) Value of all assets						
• •						
(2) Value of assets qualifying						
under section 4942(j)(3)(B)(i) b "Endowment" alternative test - enter						
2/3 of minimum investment return						
shown in Part X, line 6 for each year						
listed		<u> </u>				
c "Support" alternative test - enter:						
(1) Total support other than gross investment income (interest,						
dividends, rents, payments on						
securities loans (section			<u> </u>			
512(a)(5)), or royalties)	,					
(2) Support from general public						
and 5 or more exempt organizations as provided in						
section 4942(j)(3)(B)(iii)						
(3) Largest amount of support from						
an exempt organization						
(4) Gross investment income						
Part XV Supplementary Info			if the foundatio	n had \$5,000 or m	ore in assets	
at any time during t	ne year-see instr	ructions.)				
1 Information Regarding Foundatio	•					
a List any managers of the foundation who			ributions received by th	e foundation before the clo	se of any tax	
year (but only if they have contributed m	iore than \$5,000). (See se	ection 507(d)(2).)				
NONE						
b List any managers of the foundation who			or an equally large por	tion of the ownership of a p	artnership or	
other entity) of which the foundation has	a 10% or greater interes	st.				
NONE						
2 Information Regarding Contributi	on, Grant, Gift, Loan,	Scholarship, etc., Pr	ograms:			
Check here 🕨 🔲 if the foundation of	nly makes contributions t	o preselected charitable	organizations and does	not accept unsolicited requ	lests for funds. If	
the foundation makes gifts, grants, etc. (see instructions) to indiv	iduals or organizations u	nder other conditions,	complete items 2a, b, c, and	d d.	
a The name, address, and telephone numb	per or e-mail address of the	he person to whom appli	cations should be addr	essed.		
SEE STATEMENT 9						
b The form in which applications should b	e submitted and informat	ion and materials they st	nould include:			
c Any submission deadlines:						
d Any restrictions or limitations on awards	, such as by geographica	l areas, charitable fields,	kinds of institutions, or	other factors.		

Supplementary Information (continued) 3 Grants and Contributions Paid During the Year or Approved for Future Payment If recipient is an individual, Recipient Foundation Purpose of grant or show any relationship to Amount status of contribution any foundation manager Name and address (home or business) recipient or substantial contributor a Paid during the year NONE ÞС GENERAL KANSAS STATE UNIVERSITY 2323 ANDERSON AVENUE, SUITE 500 5,000 MANHATTAN KS 66502 MASSACHUSETTS INSTITUTE OF TECHNOLOGY NONE PC GENERAL 600 MEMORIAL DRIVE, W98-308 20,000. CAMBRIDGE, MA 02139 MASSACHUSETTS INSTITUTE OF TECHNOLOGY ₽C GENERAL - SLOCUM (2744083) ONE CHARLES PARK, 4TH FLOOR CAMBRIDGE MA 02142 5,000. MONTE CASSINO SCHOOL NONE РC GENERAL 2206 S LEWIS AVE TULSA OK 74114 3 400. NONE GENERAL NORTHEASTERN STATE UNIVERSITY ÞС 812 N CEDAR AVE 2.500. TAHLEOUAH OK 74464 SEE CONTINUATION SHEET(S) ▶ 3a Total 230 272 b Approved for future payment NONE Total **▶** 3b

Part XVI-A Analysis of Income-Producing Activities

Enter gross amounts unless otherwise indicated.	Unrelate	d business income	Exclu	ded by section 512, 513, or 514	(e)
,	(a)	(b)	(C) Exclu-	(d)	Related or exempt
1 Program service revenue:	Business code	Amount	sion code	Amount	function income
a					
b					-
c	1 1				
d	1 1	•			
e					
f					
g Fees and contracts from government agencies					
2 Membership dues and assessments					<u>. </u>
3 Interest on savings and temporary cash					
investments					
4 Dividends and interest from securities			14	29,386.	
5 Net rental income or (loss) from real estate:					
a Debt-financed property					
b Not debt-financed property					
6 Net rental income or (loss) from personal					· -
property					
7 Other investment income			10	232.	
8 Gain or (loss) from sales of assets other					
than inventory			18	3,296.	
9 Net income or (loss) from special events					
10 Gross profit or (loss) from sales of inventory					
11 Other revenue:					
a					
b					
C					
d					
e					
12 Subtotal. Add columns (b), (d), and (e)		0.		32,914.	(
13 Total. Add line 12, columns (b), (d), and (e)	-			13	32,91
(See worksheet in line 13 instructions to verify calculations.))				

Part XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes

 the foundation's exempt purposes (other than by providing funds for such purposes).

Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to the accomplishment of

Form 99 Part					FOUNDATION and Transactions		nd Polotion		5309346		ige 13
rait		Exempt Organ		ISIEIS IU d	and mansactions	all	iu neiations	sinps with No	пспапцарі	e	
4 0.	1 41			of the follows	a with any other arganize	04.00	departhed to see	ution EO1/a) of		Yes	No
		•			ig with any other organiza			3011 301(0) 01	-	163	140
		•			?7, relating to political org	Januz	ations		į		
		from the reporting found	ation to a nonchariti	able exempt or	ganization of:				ļ		
	Cash								1a(1)		<u>X</u>
		assets							1a(2)	_	X
		sactions:							i		
(1)	Sales	of assets to a noncharita	ible exempt organiza	ation					1b(1)	<u> </u>	<u> </u>
(2)	Purch	nases of assets from a no	ncharitable exempt	organization					1b(2)	<u> </u>	X
(3)	Renta	al of facilities, equipment,	or other assets						1b(3)	ļ	X
(4)	Reim	bursement arrangements							1b(4)		X
(5)	Loan	s or loan guarantees							1b(5)		X
(6)	Perfo	rmance of services or me	embership or fundra	ising solicitatio	ons				1b(6)		X
c Sh	arıng o	f facilities, equipment, ma	uling lists, other ass	ets, or paid em	ployees				1c		X
d Ift	he ansv	ver to any of the above is	"Yes," complete the	following sche	dule. Column (b) should	alwa	avs show the fair	market value of the	goods, other as	sets.	
or	service		oundation. If the fol	indation receiv	ed less than fair market v					,	
(a) Line r		(b) Amount involved	,		e exempt organization		(d) Bassanta				
(a) Line i		(b) Amount involved	(c) Name o				(u) Description	on of transfers, transaction	ons, and snaring a	rangeme	ents
				N/A							
	-							_			
	_										
	_ _										
				-							
,											
											-
							 				
		ndation directly or indirect 501(c) of the Code (other			or more tax-exempt orga	anıza	itions described		Yes	X	No
b If "	Yes," co	omplete the following sch	edule.								
	•	(a) Name of org	janization		(b) Type of organization	n		(c) Description of re	elationship		
		N/A									
				-		十					
						十					
	Under	penalties of perjury, I declare	that I have examined th	is return, includin	ig accompanying schedules a	ind st	atements, and to th	e best of my knowledge			
Sign Here				reparer (other than	n taxpayer) is based on all info	ormat	RER	TÖR/TREAS	May the IRS return with the shown below X Yes	ne prepai v (see <u>ins</u>	er
	Sign	nature of officer or trustee		10 1	Date	A.	Title				
		Print/Type preparer's na	ame	Preparer's s	ignature-////	<u> </u>	Date	Check if	PTIN		
Paid		JANICE WIL	BURN	JANICE	NVC()/// WILBURN	\downarrow_1	.0/03/16	self- employed	P00402	232	
Prepa		Firm's name ► EID		LLP		1-4-	, ,	Fırm's EIN ▶ 4			
Use (Only										

Phone no. 918-748-5000 Form **990-PF** (2015)

Firm's address ► 810 S CINCINNATI AVE, STE 600

TULSA, OK 74119-1623

Part XV Supplementary Information Grants and Contributions Paid During the Year (Continuation) If recipient is an individual, Recipient Foundation show any relationship to Purpose of grant or Amount any foundation manager or substantial contributor status of contribution Name and address (home or business) recipient OKLAHOMA STATE UNIVERSITY FOUNDATION NONE ÞC SCHOLARSHIP 400 SOUTH MONROE STILLWATER OK 74074 17,000. OPERATION HOLIDAY SPIRIT, TINKER AFB NONE PC GENERAL 513 ACG/CCE, 3800 AVE A STE 201 TINKER AIR FORCE BASE, OK 13745 5,000. PITTSBURGH STATE UNIVERSITY NONE ÞС GENERAL 1701 SOUTH BROADWAY PITTSBURG, KS 66762 2,500. PLANNED PARENTHOOD NONE PC GENERAL 1007 S PEORIA AVE TULSA, OK 74120 5.000. SOUTHEASTERN OKLAHOMA STATE NONE PC GENERAL UNIVERSITY .1405 N 4TH PMB 4187 DURANT, OK 74701 2,500. THE ROCK HOUSE CHURCH NONE PC GENERAL PO BOX 508 5 000. CATOOSA OK 74015 TULSA POLICE HEROES BANOUET C/O TULSA NONE ÞС GENERAL COMMUNITY FOUNDATION 10110 E 11TH STREET TULSA, OK 74128 5,000. UNIVERSITY OF OKLAHOMA FOUNDATION NONE ÞС GENERAL 100 TIMBERDELL ROAD NORMAN, OK 73019 10,000. UNIVERSITY OF TULSA - CBA NONE PC GENERAL 800 S TUCKER DRIVE TULSA OK 74104 2,500. UNIVERSITY OF TULSA - UNIVERSITY NONE ÞС MATHEMATICS ENDOWMENT SCHOOL 800 S TUCKER DRIVE **TULSA** OK 74104 20,000. Total from continuation sheets 194 372.

Part XV Supplementary Information Grants and Contributions Paid During the Year (Continuation) If recipient is an individual, Recipient Foundation show any relationship to Purpose of grant or Amount any foundation manager or substantial contributor status of contribution Name and address (home or business) recipient THE ROUTE 66 ALLIANCE NONE PC GENERAL PO BOX 54214 TULSA OK 74155 75,000. ROGERS STATE UNIVERSITY FOUNDATION NONE PC GENERAL 1701 WEST WILL ROGERS BLVD <u>5.000.</u> CLAREMORE OK 74017 SAN MIGUEL SCHOOL NONE ÞС GENERAL 2444 E ADMIRAL BLVD TULSA, OK 74110 2,500. MENTAL HEALTH ASSOC OF OKLAHOMA NONE PC GENERAL 1870 S BOULDER AVE TULSA, OK 74119 15,000. A CHANCE TO CHANGE FDN NONE ÞС GENERAL 5228 CLASSEN CIRCLE OKLAHOMA CITY, OK 73118 2,122, BREAST CANCER FOUNDATION INC (TULSA NONE ₽C GENERAL AFFILLIATE OF SUSAN G KOMEN) 1560 E 21ST STREET TULSA, OK 74114 1,000. CHILD ABUSE NETWORK NONE ÞС GENERAL 2829 S SHERIDAN ROAD TULSA, OK 74129 1,000. NONE MISSISSIPPI STATE UNIVERSITY ÞС BUILDING CONSTRUCTION FOUNDATION PO BOX 6222, 132 HOWELL BUILDING/823 COLLEGEVIEW STREET MISSISSIPPI STATE MS 39762 5,000, NEW SPRING ASSEMBLY OF GOD / JENKS NONE ÞС GENERAL FOODIE 2907 W 108TH PLACE SOUTH JENKS, OK 74037 1,000. POSITIVE TOMORROWS NONE ÞС GENERAL PO BOX 61190 OKLAHOMA CITY OK 73146 1,000. Total from continuation sheets

20-5309346

Part XV Supplementary Information				
3 Grants and Contributions Paid During the Y		1	<u> </u>	
Recipient	If recipient is an individual, show any relationship to any foundation manager or substantial contributor	Foundation status of	Purpose of grant or contribution	Amount
Name and address (home or business)	or substantial contributor	recipient		
PUBLIC RADIO TULSA	NONE	PC	GENERAL	
800 S TUCKER DRIVE				
TULSA, OK 74104				2,500.
RIVERWALK RALLY AVMC	NONE	PC	GENERAL	
10109 E 79TH STREET	NONE		CHADIOLD	
TULSA OK 74133				500.
THE DEVOTE BOY	NO.			
THE PENCIL BOX PO BOX 52631	NONE	PC	GENERAL	
TULSA, OK 74152				1,000.
TULSA BOTANIC GARDEN	NONE	PC	GENERAL	
PO BOX 707 TULSA, OK 74101				5,000.
TODSA, OR 74101				3,000.
TULSA HBA	NONE	PC	EVENING OF GIVING	
11545 E 43RD STREET				1 250
TULSA, OK 74146				1,250.
TULSA ZOO MANAGEMENT, INC	NONE '	₽C	GENERAL	
6421 E 36TH STREET NORTH				1 000
TULSA, OK 74115				1,000.
			-	<u> </u>

Schedule B (Form 990, 990-EZ, or 990-PF)

Department of the Treasury Internal Revenue Service

Schedule of Contributors

► Attach to Form 990, Form 990-EZ, or Form 990-PF. ▶ Information about Schedule B (Form 990, 990-EZ, or 990-PF) and its instructions is at www.irs.gov/form990 .

OMB No 1545-0047

Name of the organ	ization	Employer identification number
	THE ROSS CHARITABLE FOUNDATION	20-5309346
Organization type (check one)	
Filers of:	Section:	
Form 990 or 990-EZ	501(c)() (enter number) organization	
	4947(a)(1) nonexempt charitable trust not treated as a private foundation	
	527 political organization	A.
Form 990-PF	X 501(c)(3) exempt private foundation	
	4947(a)(1) nonexempt charitable trust treated as a private foundation	
	501(c)(3) taxable private foundation	
General Rule	n 501(c)(7), (8), or (10) organization can check boxes for both the General Rule and a Special F	
	anization filing Form 990, 990-EZ, or 990-PF that received, during the year, contributions totaling and any one contributor. Complete Parts I and II. See instructions for determining a contributor.	
Special Rules		
sections 50 any one co	anization described in section 501(c)(3) filing Form 990 or 990-EZ that met the 33 1/3% supports (2)(a)(1) and 170(b)(1)(A)(vi), that checked Schedule A (Form 990 or 990-EZ), Part II, line 13, 16 intributor, during the year, total contributions of the greater of (1) \$5,000 or (2) 2% of the among 990-EZ, line 1 Complete Parts I and II	a, or 16b, and that received from
year, total	anization described in section 501(c)(7), (8), or (10) filing Form 990 or 990-EZ that received from contributions of more than \$1,000 exclusively for religious, charitable, scientific, literary, or edution of cruelty to children or animals. Complete Parts I, II, and III	•
year, contr is checked purpose D	anization described in section 501(c)(7), (8), or (10) filing Form 990 or 990-EZ that received from ibutions exclusively for religious, charitable, etc., purposes, but no such contributions totaled, enter here the total contributions that were received during the year for an exclusively religion to not complete any of the parts unless the General Rule applies to this organization because than table, etc., contributions totaling \$5,000 or more during the year	more than \$1,000 If this box us, charitable, etc,
-	zation that is not covered by the General Rule and/or the Special Rules does not file Schedule "No" on Part IV, line 2, of its Form 990, or check the box on line H of its Form 990-EZ or on its	•

LHA For Paperwork Reduction Act Notice, see the Instructions for Form 990, 990-EZ, or 990-PF. Schedule B (Form 990, 990-EZ, or 990-PF) (2015)

certify that it does not meet the filing requirements of Schedule B (Form 990, 990-EZ, or 990-PF)

Name of organization

Employer identification number

THE ROSS CHARITABLE FOUNDATION

20-5309346

Part I	Contributors (see instructions) Use duplicate copies of Part I if	additional space is needed	
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
1	THE ROSS GROUP CONSTRUCTION PO BOX 52570 TULSA, OK 74152-0570	\$\$	Person X Payroll Noncash (Complete Part II for noncash contributions.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Oncash Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash Complete Part II for noncash contributions)

Name of organization

Employer identification number

THE ROSS CHARITABLE FOUNDATION

20-5309346

(b)	(c)	
Description of noncash property given	FMV (or estimate) (see instructions)	(d) Date received
•		
(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
	\$	
(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
	\$	
(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
	(b) Description of noncash property given (b) Description of noncash property given (c) FMV (or estimate) (see instructions) (c) FMV (or estimate) (see instructions) (d) FMV (or estimate) (see instructions) (e) FMV (or estimate) (see instructions) (f) FMV (or estimate) (see instructions) (g) FMV (or estimate) (see instructions) (h) Description of noncash property given (c) FMV (or estimate) (see instructions) (d) FMV (or estimate) (see instructions) (e) FMV (or estimate) (see instructions)	

Employer identification number Name of organization THE ROSS CHARITABLE FOUNDATION
Part III Exclusively religious, charitable, etc., contribut 20-5309346 *Exclusively religious, charitable, etc., contributions to organizations described in section 501(c)(7), (8), or (10) that total more than \$1,000 for the year from any one contributor Complete columns (a) through (e) and the following line entry. For organizations completing Part III, enter the total of exclusively religious, charitable, etc., contributions of \$1,000 or less for the year. (Enter this tinfo once) Use duplicate copies of Part III if additional space is needed (a) No. from Part I (b) Purpose of gift (c) Use of gift (d) Description of how gift is held (e) Transfer of gift Transferee's name, address, and ZIP + 4 Relationship of transferor to transferee (a) No. from Part I (b) Purpose of gift (c) Use of gift (d) Description of how gift is held (e) Transfer of gift Transferee's name, address, and ZIP + 4 Relationship of transferor to transferee (a) No. from Part I (b) Purpose of gift (c) Use of gift (d) Description of how gift is held (e) Transfer of gift Transferee's name, address, and ZIP + 4 Relationship of transferor to transferee (a) No. from (b) Purpose of gift (c) Use of gift (d) Description of how gift is held Part I (e) Transfer of gift Transferee's name, address, and ZIP + 4 Relationship of transferor to transferee

•	DIVIDENDS	AND INTER	REST	FROM SEC	URITIES	នា	PATEMENT	1
SOURCE	GROSS AMOUNT	CAPITAI GAINS DIVIDENI		(A) REVENUE PER BOOKS	(B NET IN S MENT I	WEST-	(C) ADJUSTE NET INCO	
BANK OF OKLAHOMA FIDELITY	27,475. 5,207.	3,29	96.	24,179 5,20		,179.		
TO PART I, LINE 4	32,682.	3,29	96.	29,38	5. 29	,386.		
FORM 990-PF		OTHER 1	INCO	ME		Si	PATEMENT	2
DESCRIPTION			RE	(A) VENUE BOOKS	(B) NET INVE MENT INC		(C) ADJUSTEI NET INCOM	
FEDERAL INCOME TAX R	REFUND			232.		232.		
TOTAL TO FORM 990-PF	F, PART I,	LINE 11		232.		232.	<u> </u>	
FORM 990-PF	OT	HER PROFES	SSIO	 Nat. FFF9		- Cn	PATEMENT	
				WHI I HID		2.1	HIEMENT	3
DESCRIPTION		(A) EXPENSES PER BOOKS	NE'	(B) I INVEST- NT INCOME	(C) ADJUS NET IN	TED	(D) CHARITAE PURPOSE	BLE
DESCRIPTION OTHER PROFESSIONAL F		EXPENSES	NE'	(B) T INVEST-	ADJUS NET IN	TED	(D) CHARITAE	BLE ES
	rees	EXPENSES PER BOOKS	NE'	(B) T INVEST- NT INCOME	ADJUS NET IN	TED	(D) CHARITAE PURPOSE	BLE ES
OTHER PROFESSIONAL F	rees	EXPENSES PER BOOKS 2,500.	NE'	(B) T INVEST- NT INCOME 0	ADJUS NET IN	TED COME	(D) CHARITAE PURPOSE 2,50	BLE ES
OTHER PROFESSIONAL F	PEES	EXPENSES PER BOOKS 2,500.	NE'	(B) T INVEST- NT INCOME 0	ADJUS NET IN (C) ADJUS	TED COME	(D) CHARITAE PURPOSE 2,50	3LE 2S 00.
OTHER PROFESSIONAL F TO FORM 990-PF, PG 1 FORM 990-PF	FEES IN 16C	EXPENSES PER BOOKS 2,500. 2,500. OTHER B (A) EXPENSES	NE'	(B) I INVEST- NT INCOME 0 0 NSES (B) I INVEST-	ADJUS NET IN (C) ADJUS NET IN	TED COME	(D) CHARITAE PURPOSE 2,50 2,50 CHARITAE PURPOSE 4,34	3LE 300. 00. 4 40. 78.

FORM 990-PF	OT	HER INVESTMEN	TS		STAT	EMENT	5
DESCRIPTION		VALUATIO METHOD	n Book '	VALUE		R MARKE' 'ALUE	Г
FIDELITY INVESTME UNREALIZED GAIN/L		COST TS COST		93,022. 14,791.:		.,278,2	31.
TOTAL TO FORM 990	-PF, PART II, LI	NE 13	1,2	78,231.	1	,278,2	31.
FORM 990-PF	INTERES	T AND PENALTI	ES		STAT	EMENT	6
TAX DUE FROM FOR LATE PAYMENT I LATE PAYMENT P		I				3:	25. 5. 8.
DATE PAIMENT P							
TOTAL AMOUNT DUE	:					3	38.
TOTAL AMOUNT DUE		E PAYMENT PEN	ALTY		STAT	3 CEMENT	
			ALTY BALAN(CE MO	STAT		7
TOTAL AMOUNT DUE	LAT	AMOUNT 16 32	BALANG	325. 325.		EMENT	7
TOTAL AMOUNT DUE FORM 990-PF DESCRIPTION TAX DUE	DATE 05/15/10/15/	AMOUNT 16 32	BALANG	325.	ONTHS	EMENT	7 FY
TOTAL AMOUNT DUE FORM 990-PF DESCRIPTION TAX DUE DATE FILED	DATE 05/15/ 10/15/	AMOUNT 16 32	BALANO 5.	325.	ONTHS 5	EMENT	7 FY 8.
TOTAL AMOUNT DUE FORM 990-PF DESCRIPTION TAX DUE DATE FILED TOTAL LATE PAYMEN	DATE 05/15/ 10/15/	AMOUNT 16 32 16 E PAYMENT INT	BALANO 5.	325.	ONTHS 5	PENAL'	7 8. 8.
TOTAL AMOUNT DUE FORM 990-PF DESCRIPTION TAX DUE DATE FILED TOTAL LATE PAYMEN FORM 990-PF	DATE 05/15/ 10/15/ T PENALTY LATE	AMOUNT 16 32 16 E PAYMENT INT	BALANO 5. EREST	325. 325.	ONTHS 5	PENAL	7 8. 8.

FORM 990-PF

GRANT APPLICATION SUBMISSION INFORMATION PART XV, LINES 2A THROUGH 2D

STATEMENT

9

NAME AND ADDRESS OF PERSON TO WHOM APPLICATIONS SHOULD BE SUBMITTED

THE ROSS CHARITABLE FOUNDATION PO BOX 690960 TULSA, OK 74169-0960

TELEPHONE NUMBER

918-234-7675

FORM AND CONTENT OF APPLICATIONS

THE APPLICATION, IN ANY FORM, MUST BE SUBMITTED IN WRITING, INCLUDE A BRIEF DESCIPTION OF THE ORGANIZATION AND THE PROGRAM NEEDING FUNDING AND INCLUDE EVIDENCE OF CHARITABLE, EXEMPT STATUS.

ANY SUBMISSION DEADLINES

NONE

RESTRICTIONS AND LIMITATIONS ON AWARDS

NONE

Client Service Information

,	Web Site: WWW BOK COM		
Your Financial Consultant: TJJ		BOSC	

Related Bank Account Number: 311278126

Your Account Information

nt Objective Objective: GROWTH	HIGH RIS
Investment Objectives	Risk Exposure: H

Please review your investment objective. If you wish to make a change or have any questions please contact your Financial Consultant.

Tax Lot Default Disposition Method

Default Method for Mutual Funds AVERAGE COST (USING FIRST IN FIRST OUT)
Default Method for Stocks in a Dividend Reinvestment Plan: FIRST IN FIRST OUT
Default Method for all Other Securities FIRST IN FIRST OUT

Bond Amortization Elections:

Amoruze premium on taxable bonds based on Constant Yield Method·Yes Accrual market discount method for all other bond types Constant Yield Method

Include market discount in income annually. No

Electronic Delivery

You are currently enrolled to receive the following account communications via electronic delivery.

Statements and Reports

Trade Confirmations

Please log in to your account to make any changes to your electronic delivery preferences.

The above e-mail address is partially masked for your security. Please log

w########@withrossgroup.com m#########@udcc.com b##########@ugcc.com

into your account to review the full e-mail address

E-mail notifications are delivered to the following e-mail address(es):

Portfolio Holdings

		Account	Activity	Opening	Closing	Acerused	Income	30-Day	limont
Opening Date Qu	Quantity	Number	Ending	Balance	Balance	Income	This Year	Yield	Yield
Cash, Money Funds, and Bank Deposits 16.00% of	k Deposi	ts 16.00% of Portfolio	folio						1
Margin Balance	•			000	181.65				
Money Market									
FEDERATED CAPITAL RESERVES									
	207,415,790 0002661851		12/31/15	206,249.56	207,415.79	0.00	2.03	0.00%	0.01%
Total Money Market			\$	\$206,249.56	\$207,415.79	\$0.00	\$2.03	1	
Total Cash, Money Funds, and Bank Deposits	d Bank D	eposits	S	206,249.56	\$207,597.44	\$0.00	\$2.03		

Page 2 of 14

ROSS CHARITABLE FOUNDATION

PAR-02-ROLL



Brokerage

Account Statement

Statement Period: 12/01/2015 - 12/31/2015

Portfolio Holdings (continued)

Date Acquired	Quantity	Unit Cost	Cost Basis	Market Price	Market Value	Urrealized Gain/Loss	Estimated Estimated Annual Income Vield	stimated Yield
Equities 4.00% of Portfolio	olio							
Common Stocks								
AT&T INC COM			Secur	Security Identifier: T				
10/09/15	200.000	33,1450	16,572.50	34.4100	17,205.00	632.50	940.00	5.46%
GLAXOSMITHKLINE PLC SPONS ADR	IS ADR		Security	Security Identifier: GSK				
10/30/15	400 000	الا 43 1200	17,248.00	A0.3500	16,140.00	-1,108.00	970.25	6.01%
PROCTER & GAMBLE CO COM			Security	Security Identifier: PG				
10/30/15	200 000	76.5590	15,311.80	79.4100	15,882.00	570.20	530.32	3.33%
Total Common Stocks			\$49,132.30		\$49,227.00	\$94.70	\$2,440.57	
Total Equities		i	\$49,132.30		\$49,227.00	\$94.70	\$2,440.57	<u> </u>
						Unrealized	Estimated Estimated	stimated
Date Acquired	Quantity	Unit Cost	Cost Basis	Market Price	Market Value	Gain/Loss	Annual Income	Yield
Mutual Funds 19.00% of Portfolio	of Portfolio							
AMG MANAGERS BOND FUND SERVICE CLASS	SERVICE CLASS		Security Ide	Security Identifier: MGFIX				
Open End Pulna Dividend Option: Remvest, Capital Gains Option. Remvest	al Gains Option. I	Reinvest	٥	USIP UVI / ULO42				
9,395 55 oi mese snares are in your margin account	our margin accou							2
Average .13	6, 193,508 6, 193,608	75.6940	140,558.23	76.2000	162,272,53	21,714.30	4,412.94	%1/7
Average 13	3 201 940	27.3500	R7 572 20	26.2000	83 890 83	.3 681 37	2 281 38	271%
Total Covered	3,201.940		87.572.20		83,890.83	-3,681.37	2,281.38	2
Total	9,395.548		\$228,130.43	:	\$246,163.36	\$18,032.93	\$6,694.32	

ROSS CHARITABLE FOUNDATION

B0087701C5P30028

Portfolio Holdings (continued)

The Propose England County Inches Cusp 582291722 Cusp 58229172 Cusp 5822917	CLIST Security Identifier: CABEX CLIST SCASITOR Security Identifier: CABEX CLIST SCASITOR Security Identifier: CABEX	Date Acquired	Quantity	Unit Cost	Cost Basis	Market Price	Market Value	Urrealized Gain/Loss	Estimated Estimated Annual Income Yield
The National Care Capital Capital Care Capital Capital Care Capital Capi	National Case	Mutual Funds (continue	(pi						
CLISP 36291702 CHINA CLISP 36291702 CLISP 3629170	Outside can plant right of the first of the first state of the control of the con	CABELLI EQUITY INCOME !	FUND CLASS		Security Id	entifier: GABEX			
Continue Capical Cap	National Capital Carab Option: Relinests 1417 2.56	AAA			5	USIP 36239T202			
The control	The state of the same state	Open End Fund		;					
Columnity Colu	Columnity Colu	Dividend Option: Keinvest; C. 297 of these shares are in vo	apital Gains Option: R iur margin account	teinvest					
Carlo Carl	Carlo Carl	Average *.13	2 509	20.1830	50.64	25.8300	64.81	14.17	
1137 1137	1	Total Noncovered	2.509		50 64		64.81	14.17	
Care	A 0.456 0.456 1.1437 1.1430 1.173	Average 13	0.456	26 2500	11.97	25.8300	11.78	-0.19	
Table Tabl	Part	Total Covered	0.456		11.97		11.78	-0.19	
Particular Par	Particular Par	Total	2.965		\$62.61	:		·	•
Cash Counties Cost Basis Market Price Market Value Casin Loss Cost Basis Market Price Market Value Casin Loss Cusin Led Cost Cost Cost Cost Cost Cost Cost Cost	Cast Basis Cast Basis Market Price Market Value Cast Basis Market Price Market Value Cast Basis Market Price Cast Basis Market Price Cast Basis Cusp Accounting to Cast Accounting to Cast Accounting to Cast Cusp Accounting to Cast Acco	Total Mutual Funds			\$228,193.04		\$246,239.95	\$18,046.91	\$6,697.58
Franched Products 61.00% of Portfolio Security Identifier: IEO Securi	Fraced Products 61,00% of Portfolio Security Identifier: IEO CLISP 46128851 CLISP 4	Jate Acquired	Quantity	Unit Cost	Cost Basis	Market Price	Market Value	Umrealized Gain/Loss	EĘ.
Fift	ETF CLISIP 46428881 CLISIP 464288 CLISIP 464288 CLISIP 464288 CLISIP 464288 CLISIP 46428 CLISIP 46428 CLISIP 464288 CLISIP 46428	Exchange-Traded Proc	ducts 61.00% of	f Portfolio					İ
c sharcs are in your magain account c sharcs are in your magain account to cash, Capiual Gains Option. Cash 100000 5,76200 5,761,97 52,9500 5,08 0,41 0.095 46,6460 467 52,9500 5,08 0,41 0.096 46,6460 467 52,9500 5,08 0,41 0.096 46,6460 467 52,9500 9,95 0,64 0.097 6,8390 13,337,75 52,9500 0,58 0.007 0,011 62,7270 0,69 52,9500 10,590,00 2,807,75 0,07 0.011 62,7270 1,4480 413,74 52,9500 10,590,00 2,807,75 0,03 0.202 66,7340 115,74 52,9500 112,13 46,02 0.202 66,7340 115,74 52,9500 10,590,00 2,807,75 10,34 0.202 66,7340 115,74 52,9500 10,71,13 11,53 0.203 115,70 13,529 11,54 52,9500 10,71,13 11,53 0.204 11,50 11,5	c sharcs are in your margin account c sharcs are in your margin account 10,0000 27,62000 27,62000 27,62000 27,62000 28,6200 28,6200 28,6200 28,6200 28,6200 28,6200 28,6200 38,62000 38,6200 38,6200 38,6200 38,6200 38,6200 38,6200 38,62000 38,6200 38,6	SHARES TR US OIL & GAS I	EXPL &		Security	Identifier: IEO			
1000 51,6200 5,761,97 52,9500 5,799 5,295.00 6,669 0.41 0.10	100,000	NOCOCCION EIR Dividend Option Cash, Capità 123 M of these shares are in a	al Gains Option. Cash		٥	USIP 404200031			
0.036 4.65 52.9500 5.08 0.41 0.10 0.096 4.866 4.67 52.9500 5.08 0.41 0.10 0.096 4.866 4.67 52.9500 5.08 0.04 0.01 0.018 5.0530 9.41 52.9500 3.55 0.68 0.07 0.017 62.720 0.69 52.9500 10.580.00 2.048 0.01 0.017 62.720 0.66 7.4480 45.14 52.9500 12.09 -0.11 0.01 0.020 66.9890 1.337.75 52.9500 12.09 -0.13 0.05 0.020 6.8990 1.574 52.9500 12.11 3.461 0.05 0.020 6.8990 1.574 52.9500 1.186 -0.68 0.03 0.020 0.220 2.2500 1.186 52.9500 1.186 -0.68 0.03 0.020 0.220 2.180 2.2500 2.180 0.041 0.01 0.01	0.096 48.6460 4.67 52.9500 5.08 0.41 0.10 0.096 48.6460 4.67 52.9500 5.08 0.41 0.10 0.096 48.6460 4.67 52.9500 5.08 0.04 0.01 0.01 6.51.340 4.23 52.9500 10.58 0.08 0.01 0.067 6.51.340 4.23 52.9500 10.58 0.01 0.00 0.007 66.9890 13.397.75 52.9500 10.580 -1.36 0.01 0.008 4.4880 45.14 52.9500 15.03 -1.305 0.05 0.029 86.7340 15.74 52.9500 12.13 -1.36 0.03 0.029 86.7340 14.97 52.9500 12.13 -1.36 0.03 0.029 11.26 61.1250 77.14 52.9500 21.481 -1.03 1.36 0.029 11.26 61.126 77.14 52.9500 21.53 -1.53 1.13	5/03/10 ",13	100 000	57 6200	5 761 97	52 9500	5 295 00	766 07	-
0.096 48.6460 467 52.9560 5.08 0.41 0.10 0.018 5.00530 9.41 52.9560 3.55 0.054 0.054 0.00 0.018 5.00530 9.41 5.2.9560 0.58 0.041 0.011 0.001 62.7270 0.69 52.9560 0.58 0.113 0.011 0.001 62.7270 0.69 52.9560 0.58 0.13 0.001 0.002 0.003 0.003 0.003 0.003 0.003 0.003 0.004 0.003 0.003 0.003 0.003 0.003 0.004 0.005 0.003 0.003 0.003 0.003 0.003 0.005 0.005 0.003 0.003 0.003 0.003 0.003 0.005 0.005 0.003 0.003 0.003 0.003 0.003 0.005 0.005 0.003 0.003 0.003 0.003 0.003 0.005 0.005 0.003 0.003 0.003 0.003 0.003 0.005 0.005 0.003 0.003 0.003 0.003 0.003 0.005 0.005 0.003 0.003 0.003 0.003 0.003 0.005 0.005 0.003 0.003 0.003 0.003 0.003 0.005 0.005 0.003 0.003 0.003 0.003 0.005 0.005 0.003 0.003 0.003 0.003 0.005 0.005 0.003 0.003 0.003 0.003 0.005 0.005 0.005 0.003 0.003 0.003 0.005 0.005 0.005 0.003 0.003 0.003 0.005 0.005 0.005 0.003 0.003 0.003 0.005 0.005 0.005 0.005 0.003 0.003 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.00	0.096 48.6460 4 67 52.9500 5.08 0,41 0.10 0.018 5.00530 9.41 52.9500 9.95 0.64 0.05 0.067 5.00530 9.41 52.9500 10.58 0.64 0.07 0.017 62.3770 0.69 52.9500 10.590.00 -2.807.75 0.01 0.006 66.8890 13.397.75 52.9500 10.590.00 -2.807.75 0.01 0.006 66.8890 13.397.75 52.9500 10.590.00 -2.807.75 0.01 0.006 66.8890 13.397.75 52.9500 11.88 -0.13 0.02 0.006 66.8890 11.374 52.9500 11.88 -0.18 0.03 0.007 0.356 56.4210 19.73 52.9500 21.800 -1.63 0.03 0.026 65.0200 2.2500 2.2500 2.153 -1.51 1.64 1.64 0.026 66.0200 2.2500 2.2500 7.153	6/30/10 *,13	0.096	48.6460	4.67	52,9500	5.08	0.41	
0.188 50.0530 9.41 52.9500 9.95 0.54 0.54 0.007 0.067 63.1340 4.23 52.9500 0.58 0.048 0.01 0.017 63.1340 4.23 52.9500 10.590.00 2.807.75 0.08 0.01 2.00.000 66.9890 13.397.75 52.9500 10.590.00 2.807.75 0.01 0.029 66.980 13.397.75 52.9500 17.13 -1.305 0.65 0.029 66.980 13.397.75 52.9500 27.180.00 -3.67.38 400.62 0.029 66.080 77.14 52.9500 27.180.00 -3.67.38 -1.33 400.000 65.0200 24.807.95 52.9500 27.180.00 -3.67.38 -1.032 1.027 400.000 65.038 52.950 7.118 -6.82.950 -1.235 -1.235 -1.235 -1.235 1.037 64.240 69.38 52.950 76.99 -16.33 -1.234 -1.234	0.188 5.0.530 9.41 5.2.9500 9.35 0.54 0.54 0.50 0.067 6.1340 4.23 5.2.9500 0.58 0.11 0.01 0.011 6.2.1270 0.69 52.9500 10.580 -0.68 0.11 0.01 0.050 7.4.480 45.14 52.9500 10.5800 -2.807.75 213.05 0.55 0.250 7.4.480 45.14 52.9500 12.13 -1.305 0.58 0.28 0.250 7.2.25 1.2.13 4.2.48 0.58 0.28 0.58 0.58 0.250 7.2.25 1.2.13 4.2.49 0.58 0.28 0.28 0.58	16/30/10 *.13	960 0	48.6460	467	52.9500	5.08	0.41	
0.067 63.1340 4.23 52.9500 3.55 -0.68 0.071 0.011 62.1770 0.68 52.9500 0.58 -0.11 0.01 2.00.00 66.9890 13.97.75 52.9500 10.20 -2.807.75 2.057.75 0.666 7.4880 45.14 52.9500 12.13 -3.61 0.05 0.229 68.7340 15.74 52.9500 12.13 -3.61 0.22 0.029 68.7340 19.73 52.9500 21.68 -0.08 -0.08 0.020 6.2220 2.9500 2.1480.00 -3.61 0.33 -0.08 0.020 6.22200 2.29500 2.1180.00 -3.627.95 -0.28 -0.08 -0.28 -0.08 1.07 64.4200 63.38 52.9500 87.03 -1.51 -1.53 -1.54 1.56.35 -1.53 -1.53 -1.54 -1.54 -1.54 -1.54 -1.54 -1.54 -1.54 -1.54 -1.54 -1.54 -1.5	0.067 63.1340 4.23 52.9500 3.55 -0.68 -0.06 0.07 2.00.001 62.7270 0.68 52.9500 10.590.00 2.807.75 215.27 2.00.000 65.06 74.4880 45.14 52.9500 10.590.00 2.807.75 215.27 0.229 68.7340 15.74 52.9500 12.13 3.61 0.25 4.00.000 2.2800 2.29500 12.13 3.61 0.25 4.00.000 2.2800 2.11,180.00 3.62.35 0.03 4.00.291 7.714 52.9500 21,180.00 3.62.35 0.03 1.262 61.129 77.14 52.9500 66.82 10.23 1.36 1.07 64.200 82.26 52.9500 57.03 1.25 1.16 1.437 63.6600 91.48 52.9500 86.20 1.15 1.15 1.50 73.5290 116.24 52.9500 86.20 1.15 1.15 1.408 78.	19/29/10 *.13	0.188	50.0530	9.41	52.9500	9.95	0.54	
CO011 62.1770 0.69 52.9500 0.58 -0.11 0.01 C0000 66.9890 13.387.75 52.9500 10.590.00 -13.05 0.01 0.05 0.606 74.4880 45.14 52.9500 12.13 -13.05 0.22 0.25 0.229 68.7340 15.74 52.9500 12.13 -3.61 0.25 1.026 55.4210 19.73 52.9500 21.180.00 -3.627.95 -0.38 1.027 6.2000 24.807.95 52.9500 21.180.00 -3.627.95 -10.32 1.36 rered 70.291 44.109.09 37.210.13 -6.929.06 -1.63.23 -1.36 1.52 53.9410 82.26 52.9500 80.75 -1.53 -1.53 1.52 53.9410 82.26 52.9500 86.70 -1.53 -1.53 1.628 5.6403 116.48 52.9500 86.20 -1.53 -1.53 1.570 73.5500 116.24 -1.53	COUGE 6.27270 0.69 52.9560 0.68 0.011 62.7270 0.69 52.9560 10.580.00 2.807.75 2.13.05 0.011 0.666 74.44860 45.14 52.9560 12.13 3.69 2.807.75 0.25 0.229 68.1360 15.74 52.9560 12.13 3.62 0.28 400.000 65.0200 24.807.95 52.9560 27.180.00 -3.627.95 0.38 400.000 65.0200 24.807.95 52.9560 27.180.00 -3.627.95 1.36 400.000 65.0200 24.807.95 52.9560 27.180.00 -3.627.95 75.55 400.000 65.0200 24.807.95 52.9560 80.75 -15.3 1.16 1.575 53.9410 82.26 52.9560 80.75 -15.3 1.16 1.68 16.36 91.48 52.9560 80.75 -15.3 1.16 1.68 1.68 0.76 -15.39 -15.39 -15.39 1.16 <td>2/29/10 :13</td> <td>0.067</td> <td>63.1340</td> <td>4.23</td> <td>52,9500</td> <td>3.55</td> <td>-0.68</td> <td></td>	2/29/10 :13	0.067	63.1340	4.23	52,9500	3.55	-0.68	
200,000 66,3890 13,397.75 52,9500 10,590.00 -2,807.75 216,27 0,606 74,4880 45,14 52,9500 10,590.00 -13.05 0.65 0,259 68,7340 15,74 52,9500 12.13 -0,88 0.25 0,259 68,7340 19,73 52,9500 18.85 -0,88 0.038 0,259 68,000 24,807.95 52,9500 21,180.00 -3,627.95 430.54 1,262 61,1250 77,14 52,9500 66.82 -10,32 1,36 1,077 64,4200 68,38 52,9500 57,03 -1,23 1,16 1,57 64,4200 82,26 76,09 76,09 -1,51 1,16 1,58 64,0540 116,28 52,9500 80,75 -1,51 1,16 1,50 78,560 15,050 83,13 -1,53 -1,53 1,15 1,64 1,50 75,560 83,13 -1,64 -1,54 52,950 11	200,000 66,9890 13,397.75 52,9500 10,590,00 2,807.75 215,27 215,27 0,606 74,4880 45,14 52,9500 32,09 -13.05 0.65 0,229 68,340 19,73 52,9500 12,13 -0,88 0.08 0,356 55,4210 19,73 52,9500 21,180,00 -3,677.95 430,54 1,262 61,1260 77,14 52,9500 21,180,00 -3,677.95 430,54 1,000 62,2200 77,14 52,9500 27,130,00 -10,32 756,56 1,007 64,4200 69,38 52,9500 57,03 -12,35 116,4 1,526 61,540 104,28 52,950 80,75 -15,39 116,4 1,570 73,5290 116,49 52,950 86,29 -15,39 11,53 1,570 73,5290 116,49 52,950 83,13 -15,39 -15,39 1,69 1,570 73,660 110,24 52,950 14	11/05/11 *.13	0.011	62.7270	0.69	52.9500	0.58	-0.11	
0.606 74.4880 45.14 52.9500 32.09 -13.05 0.65 0.229 68.7340 15.74 52.9500 12.13 -3.61 0.25 - 0.259 68.7340 19.73 52.9500 11.13 -3.67.35 -0.88 0.38 - 0.020 62.0200 24,807.95 52.9500 66.82 -10.32 1.36 430.54 1.262 61.1560 77.14 52.9500 66.82 -10.32 756.56 1.36 1.0291 44,149.09 52.9500 80.75 -1.51 1.16 <td< td=""><td>0.606 74,4880 45.14 52,9500 32,09 -13,05 0.65 0.229 68,7340 15,14 52,9500 12,13 -3,61 0.25 0.036 55,2400 21,1805 -3,671,95 -0,28 -0,08 -0,03 0.045 55,2400 21,1800 -3,672,95 430,54 -0,08 -0,08 -0,08 1.05 61,1250 77,14 52,9500 66.82 -10,22 1,36 -1,56 1.077 64,4200 69.38 52,9500 57.03 -1,51 1,66,92 1,16 1.675 53,9410 82,25 52,9500 80.75 -1,51 1,64 1,16 1.63 63,6600 91,48 52,9500 80.75 -1,51 1,54 1,55 1,54 52,9500 80.75 -1,51 1,54 1,54 1,54 52,9500 80.75 -1,63 1,14 1,14 1,14 1,14 1,14 1,14 1,14 1,14 1,14 1,14 1,</td><td>\$1.' 11/81/10</td><td>200.000</td><td>66.9890</td><td>13,397.75</td><td>52.9500</td><td>10,590.00</td><td>-2,807.75</td><td></td></td<>	0.606 74,4880 45.14 52,9500 32,09 -13,05 0.65 0.229 68,7340 15,14 52,9500 12,13 -3,61 0.25 0.036 55,2400 21,1805 -3,671,95 -0,28 -0,08 -0,03 0.045 55,2400 21,1800 -3,672,95 430,54 -0,08 -0,08 -0,08 1.05 61,1250 77,14 52,9500 66.82 -10,22 1,36 -1,56 1.077 64,4200 69.38 52,9500 57.03 -1,51 1,66,92 1,16 1.675 53,9410 82,25 52,9500 80.75 -1,51 1,64 1,16 1.63 63,6600 91,48 52,9500 80.75 -1,51 1,54 1,55 1,54 52,9500 80.75 -1,51 1,54 1,54 1,54 52,9500 80.75 -1,63 1,14 1,14 1,14 1,14 1,14 1,14 1,14 1,14 1,14 1,14 1,	\$1.' 11/81/10	200.000	66.9890	13,397.75	52.9500	10,590.00	-2,807.75	
0.229 68.7340 15.74 52.9500 12.13 -3.61 0.25 0.0356 55.4210 19.73 52.9500 12.13 -3.67.95 0.38 400.000 62.0200 24.807.95 52.9500 21/180.00 -3.677.95 -40.32 430.54 rered 702.11 52.9500 27.10.13 -6.929.96 756.56 1.56 1.52 53.9410 82.26 52.9500 80.75 -1.53 1.64 1.52 53.9410 82.26 52.9500 80.75 -1.53 1.64 1.52 53.9410 82.26 52.9500 80.75 -1.53 1.64 1.628 64.0540 104.28 52.9500 86.20 -1.808 -1.53 1.54 1.570 73.5290 115.44 52.9500 86.20 -1.808 1.75 1.408 78.5290 116.24 52.9500 83.13 -2.801 1.62 1.669 81.7380 136.42 -2.9500 83.71	cred 0.229 68.7340 15.74 52.3500 12.13 -3.61 0.28 council (2.00) 62.200 24.807.35 52.9500 21,180.00 -3.627.95 430.54 rered 702.911 44,149.09 52.9500 21,180.00 -6,929.96 756.56 1.262 61.1250 77.14 52.9500 27.219.13 -6,929.96 756.56 1.02.911 44,149.09 52.9500 80.75 -12.35 1.16 1.575 63.6600 91.48 52.9500 76.09 -15.31 1.16 1.570 73.5290 115.44 52.9500 86.20 -15.30 1.53 1.570 73.5290 116.42 52.9500 86.20 -15.30 1.53 1.570 73.5290 115.44 52.9500 86.20 -18.08 1.75 1.408 78.5290 110.24 -41.05 -32.31 1.69 1.811 84.3700 153.88 52.9500 95.89 -57.99 -57.99	13/31/11 ',13	909:0	74.4880	45.14	52.9500	32.09	-13.05	
6.356 55,4710 19,73 52,9500 18,85 -0,88 -0,88 -0,038 -0,038 -0,88 -0,038 -0,038 -0,038 -0,038 -0,032 430,54	rered 702-91 19.73 52.9500 18.85 -0.88 -0.38 0.38 rered 702-91 44,149.09 52.9500 21,180.00 -3,627.95 430,54 rered 702-91 44,149.09 52.9500 27,219.13 -6,929.96 756.56 1,525 64,4200 63.8 52.9500 80.75 -1.23 1.16 1,525 53.9410 82.26 52.9500 80.75 -1.51 1.64 1,526 64.0540 104.28 52.9500 86.20 -1.51 1.64 1,628 64.0540 104.28 52.9500 86.20 -1.808 1.75 1,628 64.0540 104.28 52.9500 86.20 -1.808 1.75 2,082 7.5660 115.44 52.9500 80.20 -1.623 1.69 1,408 7.85230 110.24 -41.05 -2.601 1.80 1,669 81.7380 153.88 52.9500 88.37 -48.05 1.80 <td>16/30/11 :,13</td> <td>0.229</td> <td>68.7340</td> <td>15.74</td> <td>52.9500</td> <td>12.13</td> <td>-3.61</td> <td></td>	16/30/11 :,13	0.229	68.7340	15.74	52.9500	12.13	-3.61	
3 400.000 62.0200 24,807.95 52,9500 21,180.00 -3,627.95 430.54 3 1.262 61.1250 77.14 52,9500 66.82 -10.32 1.36 nvered 702.91 44,149.09 52,9500 66.82 -10.32 756.56 nvered 702.91 44,149.09 52,9500 66.82 -15.35 1.16 1,077 64,4200 69.38 52,9500 80.75 -1.51 1.64 1,137 63,6600 91.48 52,9500 86.20 -18.08 1.53 1.54 1,570 73,5290 116,48 52,9500 86.20 -18.08 1.75 2,082 76.66 151,29 52,9500 110,24 -41,05 2.24 1,408 78,530 18,13 22,9500 14,55 -48,05 152 1,69 81,7380 136,42 52,9500 95,89 -57,99 -13,09 1,811 84,9700 133,89 52,9500 9	3 400.000 62.0200 24,807.95 52.9500 21,180.00 -3,627.95 430.54 3 1.262 61.1250 77.14 52.9500 66.82 -10.32 1.36 Nvered 702.911 44,149.09 52.9500 66.82 -10.32 756.56 1.077 64.4200 69.38 52.9500 57.03 -12.35 1.16 1.525 53.9410 82.26 52.9500 80.75 -1.51 1.64 1.437 63.6600 91.48 52.9500 86.20 -18.08 1.55 1.570 73.5290 116.42 52.9500 86.20 -18.08 1.75 2.082 76.66 151.29 52.9500 110.24 -41.05 2.24 1.408 78.5230 110.56 52.9500 88.37 -41.05 -57.99 1.80 1.811 84.9700 153.88 52.9500 95.89 -57.99 -57.99 Page 4	19/29/11	0.356	55.4210	19.73	52.9500	18.85	-0.88	
3 1.262 61.1250 77.14 52.9500 66.82 -10.32 1.36 Nvered 702.91 44,149.09 37,219.13 -6,929.96 756.56 1.077 64.4200 69.38 52.9500 57.03 -15.3 1.16 1.525 53.9410 82.26 52.9500 80.75 -1.51 1.64 1.437 63.6600 91.48 52.9500 86.20 -18.08 1.53 1.54 1.570 73.5290 115.44 52.9500 86.20 -13.08 1.75 2.082 72.666 151.29 52.9500 110.24 -41.05 2.24 1.408 78.5230 116.56 52.9500 74.55 -40.05 1.52 1.669 81.7380 136.42 52.9500 95.89 -57.99 1.95 1.811 84.9700 153.88 52.9500 95.89 -57.99 1.95	3 1.262 61.1250 77.14 52.9500 66.82 -10.32 1.36 Nvered 702.91 44,149.09 37,219.13 -6,929.96 756.56 1.077 64.4200 69.38 52.9500 57.03 -15.3 1.16 1.525 53.9410 82.26 52.9500 80.75 -1.51 1.64 1.437 63.6600 91.48 52.9500 86.20 -18.08 1.55 1.570 73.5290 116.48 52.9500 86.20 -18.08 1.75 2.082 72.6660 151.29 52.9500 110.24 -41.05 2.24 1.408 78.5230 110.56 52.9500 74.55 -41.05 2.24 1.669 81.7380 153.60 95.89 -57.99 1.80 1.811 84.9700 153.88 52.9500 95.89 -57.99 -57.99 Page 4	10/21/11 :13	400.000	62.0200	24,807.95	52.9500	21,180.00	-3,627.95	
NVETed 702-911 44,149,09 37,219.13 -6,929.96 756.56 1.077 64,4200 69.38 52.9500 57.03 -12.35 1.16 1.525 53.9410 82.26 52.9500 80.75 -1.51 1.64 1.526 53.9410 82.26 52.9500 80.75 -1.53 1.64 1.628 64.0540 104.28 52.9500 86.20 -18.08 1.75 1.570 73.5290 115.4 52.9500 83.13 -32.31 1.69 1.408 78.5230 116.56 52.9500 74.55 -41.05 2.24 1.669 81.7380 136.42 52.9500 88.37 -48.05 1.80 1.811 84.9700 153.88 52.9500 95.89 -57.99 1.95	NoFed 702.911 44,149.09 37,219.13 -6,929.96 756.56 1.077 64,4200 69.38 52.9500 57.03 -12.35 1.16 1.525 53.9410 82.26 52.9500 80.75 -1.51 1.64 1.526 53.9410 82.26 52.9500 80.75 -1.53 1.64 1.628 64.0540 104.28 52.9500 86.20 -18.08 1.75 1.570 73.5290 115.44 52.9500 83.13 -32.31 1.69 1.669 81.7380 151.29 52.9500 88.37 -44.05 1.52 1.669 81.7380 136.42 52.9500 88.37 -48.05 1.80 1.811 84.9700 153.88 52.9500 95.89 -57.99 1.95	12/29/11	1.262	61.1250	77.14	52.9500	66.82	-10.32	-
1.077 64.4200 69.38 52.9500 57.03 -12.35 1.16 1.525 53.9410 82.26 52.9500 80.75 -1.51 1.64 1.437 63.6600 91.48 52.9500 76.09 -15.39 1.55 1.628 64.0540 104.28 52.9500 86.20 -18.08 1.75 1.570 73.5290 115.4 52.9500 110.24 -41.05 2.24 2.082 72.6660 151.29 52.9500 110.24 -41.05 2.24 1.408 78.5230 110.56 52.9500 88.37 -48.05 1.52 1.669 81.7380 136.42 52.9500 88.37 -48.05 1.80 1.811 84.9700 153.88 52.9500 95.89 -57.99 1.55	1.077 64.4200 69.38 52.9500 57.03 -12.35 1.16 1.525 53.9410 82.26 52.9500 80.75 -1.51 1.64 1.437 63.6600 91.48 52.9500 76.09 -15.39 1.55 1.628 64.0540 104.28 52.9500 86.20 -18.08 1.75 1.570 73.5290 115.4 52.9500 83.13 -32.31 1.69 1.609 81.7380 151.29 52.9500 110.24 -41.05 2.24 1.669 81.7380 136.42 52.9500 88.37 -48.05 1.80 1.811 84.9700 153.88 52.9500 95.89 -57.99 1.95	Fotal Noncovered	702.911		44,149.09		37,219.13	-6,929.96	756.56
1,525 53,9410 82.26 52,9500 80,75 -1.51 1.64 1,437 63,6600 91,48 52,9500 76,09 -15,39 1.55 1,628 64,0540 104,28 52,9500 86,20 -18,08 1.75 1,570 73,5290 115,44 52,9500 83,13 -32,31 1,69 2,082 72,6660 151,29 52,9500 110,24 -41,05 2,24 1,408 78,530 110,56 52,9500 88,37 -48,05 152 1,669 81,7380 136,42 52,9500 88,37 -48,05 1,80 1,811 84,9700 153,88 52,950 95,89 -57,99 1,59	1,525 53,9410 82.26 52,9500 80,75 -1,51 1,64 1,437 63,6600 91,48 52,9500 76,09 -15,39 1,55 1,628 64,0540 104,28 52,9500 86,20 -18,08 1,75 1,570 73,5290 115,44 52,9500 83,13 -32,31 1,69 2,082 72,6660 151,29 52,9500 110,24 -41,05 2,24 1,408 78,530 110,56 52,9500 88,37 -48,05 1,80 1,811 84,9700 153,88 52,9500 95,89 -57,99 1,95	33/30/12 13	1.077	64.4200	69.38	52.9500	57.03	-12.35	
1,437 63,6600 91,48 52,9500 76,09 -15,39 -15,39 1,55 1,628 64,0540 104,28 52,9500 86,20 -18,08 1,75 1,570 73,5290 115,4 52,2500 83,13 -32,31 1,69 2,082 72,6660 151,29 52,9500 110,24 -41,05 2,24 1,408 78,5230 110,56 52,9500 88,37 -48,05 1,50 1,669 81,7380 136,42 52,9500 88,37 -48,05 1,80 1,811 84,9700 153,88 52,950 95,89 -57,99 1,55	1,437 63,6600 91,48 52,9500 76,09 -15,39 1,55 1,628 64,0540 104,28 52,9500 86,20 -18,08 1,75 1,570 73,5290 115,4 52,9500 83,13 -32,31 1,69 2,082 72,6660 151,29 52,9500 110,24 -41,05 2,24 1,408 78,5330 110,56 52,9500 88,37 -48,05 1,50 1,811 84,9700 153,88 52,9500 95,89 -57,99 1,95	16/25/12 13	1.525	53.9410	82.26	52.9500	80.75	-1.51	
1,628 64,0540 104.28 52,9500 86,20 -18.08 1.75 1,570 73,5290 115,44 52,9500 83.13 -32,31 1.69 2,082 72,6660 151,29 52,9500 110,24 -41,05 2.24 1,408 78,5230 110,56 52,9500 74,55 -36,01 15 1,669 81,7380 136,42 52,9500 88,37 -48,05 1,80 1,811 84,9700 153.88 52,950 95,89 -57,99 1,59	1,628 64,0540 104.28 52,9500 86,20 -18.08 1.75 1,570 73,5290 115,44 52,9500 83.13 -32,31 1.69 2,082 72,6660 151,29 52,9500 110,24 -41,05 2.24 1,408 78,5230 110,56 52,9500 83.7 -48,05 152 1,669 81,7380 156,42 52,9500 88.37 -48,05 1,80 1,811 84,9700 153.88 52,9500 95,89 -57,99 1,95	10/01/12 13	1.437	63.6600	91.48	52.9500	76.09	-15.39	
1,570 73,5290 115,44 52,9500 83,13 -32,31 1.69 2,082 72,6660 151,29 52,9500 110,24 -41,05 2.24 1,408 78,5230 110,56 52,9500 74,55 -36,01 1.50 1,669 81,7380 136,42 52,9500 88.37 -48,05 1.80 1,811 84,9700 153,88 52,9500 95,89 -57,99 1.95	1,570 73,5290 115.44 52,9500 83,13 -32,31 1,69 2,082 72,6660 151.29 52,9500 110,24 -41,05 2.24 1,408 78,530 110,56 52,9500 74,55 -36,01 1,52 1,669 81,7380 136,42 52,9500 88,37 -48,05 1,80 1,811 84,9700 153.88 52,9500 95,89 -57,99 1,95	12/26/12 13	1.628	64.0540	104.28	52.9500	86.20	-18.08	
2.082 72.6660 151.29 52.9500 110.24 -41.05 2.24 1.408 78.5230 110.56 52.9500 74.55 -36.01 15.2 1.669 81.7380 136.42 52.9500 88.37 -48.05 1.80 1.811 84.9700 153.88 52.9500 95.89 -57.99	2.082 72.6660 151.29 52.9500 110.24 -41.05 2.24 1.408 78.5230 110.56 52.9500 74.55 -36.01 15.2 15.2 15.2 1.669 81.7380 136.42 52.9500 88.37 -48.05 1.80 1.811 84.9700 153.88 52.9500 95.89 -57.99 1.95 Page 2.24	4/01/13 13	1.570	73.5290	115.44	52.9500	83.13	-32.31	
1,408 78,5230 110,56 52,9500 74,55 -36,01 15,2 1,669 81,7380 136,42 52,9500 88.37 -48,05 1,80 1,811 84,9700 153,88 52,9500 95,89 -57,99 1,95	1,408 78,5230 110.56 52,9500 74,55 -36.01 15.2 1,669 81,7380 136.42 52,9500 88.37 -48.05 1.80 1,811 84,9700 153.88 52,9500 95,89 -57,99 1.95	7/02/13 13	2:082	72.6660	151.29	52.9500	110.24	-41.05	
1.669 81.7380 136.42 52.9500 88.37 -48.05 1.80 1.811 84.9700 153.88 52.9500 95.89 -57.99 1.95	1,669 81,7380 136,42 52,9500 88 37 -48.05 1.80 1.80 1.811 84,9700 153.88 52,9500 95,89 -57,99 1.95 Page 2	09/30/13 13	1.408	78.5230	110.56	52.9500	74.55	-36.01	
1.811 84.9700 153.88 52.9500 95.89 -57.99 1.95	1.811 84.9700 153.88 52.9500 95.89 -57.99 1.95 Page Page	12/30/13 13	1.669	81.7380	136.42	52.9500	88 37	-48.05	
	rage 4 of 14	33/31/14 13	1.811	84.9700	153.88	52.9500	95.89	-57.99	

Rolled Encollant
Casafre Integer Perahing LLC, p. wholiv cereal such client
Factor Carporates (BAY Mellon)
PACE RATED COMMUNICATIONS
Perahing LLC memore riber, My 8E, 8PC
PACE IFING

GO paperless

ROSS CHARITABLE FOUNDATION

PAR-02-ROLL

8008/10108130028



Brokerage Account Statement

Statement Period: 12/01/2015 - 12/31/2015

Portfolio Holdings (continued)

	162 10		
	00000		(continued)
84.03	25 3300	153.18 52 9500	153.18
102.19	52.9500		169.50
125.25	52.9500		
1,063.72		1,508.02	
\$38,282.85		\$45,657.11	\$45,657.11
	lentifier: SPY	Security Identifier: SPY	Security Identifier: SPY
	IIP. 78462F103	CUSIP, 78462F103	Dividend Option. Cash; Capital Gams Option: Cash 1.905.00 of these shares are in your margin account
203,870.00	203 8700	202,657.95 203 8700	202.6580 202,657.95
1,019.35	203.8700	1,014.33 203.8700	
204,889.35		203,672.28	203,672.28
183,483 00	203 8700		
183,483.00		185,677.95	185,677.95
\$388,372.35		\$389,350.23	\$389,350.23
	lentifier: JNK	Security Identifier: JNK	
	IP. 78464A417	CUSIP. 78464A417	Dividend Option. Cash, Capital Gains Option Cash 6.076.00 of these shares are in voir marini acrount
67.820.00	33,9100	73.185.95 33.9100	36.5930 73.185.95
739.34	33 9100		783.97
699.26	33.9100	780.54 33.9100	780.54
694.4	33 9100		71.70
645.51	33,9100	728.74 33.9100	728.74
651.07	33.9100		753.06
645.68	33.9100		726.17
611.7	33.9100		701 22
599.16	33.9100		697.92
600.07	33.9100		675.44
632.49	33.9100	695 42 33.9100	
616 76	33 9100	696.18 33.9100	696.18
599.39	33.9100		694.87
581.86	33 9100		
544 49	33 9100	643.14 33.9100	

Go paperless

Page 5 of 14

j

Exchange-Traded Products (continued) SPDR SER TR BARCLAVS HIGH VIELD BD ETF 11/09/10 :13 15.721 12/09/10 :13 15.721 01/06/11 :13 22.912 01/06/11 :13 16.813 01/06/11 :13 16.813	ucts (continued) 3H YIELD BD ETF	;						
SPDR SER TR BARCLAYS HIG 11/09/10 · .13 12/09/10 · .13 01/06/11 · .13 01/06/11 · .13	SH YIELD BD ETF	•						
81; 01/09/11 81; 01/09/10 81; 11/09/10 81; 11/09/10 81; 11/09/10		(continued)						
12/09/10 1:13 01/06/11 1:13 11/06/11 1:13 11:11/06/11 1:13	15.721	41.0800	645.82	33.9100	533.10	-112.72	35.15	6.59%
01/06/11 ; 13 01/06/11 ; 13 01/06/11 ; 13	15.878	39.9770	634.76	33.9100	538.42	-96.34	35.50	6.59%
01/06/11 '.13	22.912	39.8510	913.06	33.9100	776.95	-136.11	51.23	6.59%
01/06/11 ".13	16.813	39.8510	670.01	33.9100	570.13	-99.88	37.59	6.59%
13 . 11/00/00	12.416	39.8500	494.78	33.9100	421.03	-73.75	27.76	6.59%
11/60/70	14.619	40.4100	590.75	33.9100	495.73	-95.02	32.69	6.59%
03/09/11 :13	14.856	40.5370	602.22	33.9100	503.77	-98.45	33 22	6.59%
04/11/11 *.13	14.856	40.4740	601.28	33.9100	503.77	-97.51	33.22	6.59%
05/10/11 **13	15.046	40.5800	610.57	33.9100	510.21	-100.36	33.64	6.59%
06/03/11 *.13	350.000	40.2330	14,081.45	33.9100	11,868.50	-2,212.95	782.54	6.59%
06/09/11 :13	15 072	40.0640	603.85	33.9100	511.09	-92.76	33 70	6.59%
61.711/21/10	17 506	40.2680	704.94	33.9100	593.63	-111.31	39.14	6.59%
07/18/11 *.13	200 000	40.0660	20,032.95	33.9100	16,955.00	-3,077.95	1,117.91	6.59%
£1, 11/60/80	1,300.000	36.9800	48,074 00	33.9100	44,083 00	-3,991 00	2,906.58	6.59%
11, 11,60/80	200:000	37 0190	7,403 75	33 9100	6,782,00	-621.75	447.17	6.59%
08/09/11 ".13	20.927	39.0700	817.62	33 9100	709 64	-107.98	46 79	6.59%
09/12/11 :13	31.937	38.0670	1,215.75	33 9100	1,082.98	-132.77	71,41	6.59%
10/11/11 ":13	31.553	35.8280	1,130.47	33.9100	1,069.96	-60.51	70 55	6 59%
11/09/11 :13	30 214	38.6260	1,167.05	33,9100	1,024.56	-142.49	67.55	6.59%
12/09/11 :13	31 671	38.0840	1,206.16	33.9100	1,073.96	-132.20	7081	6.59%
£t.: \$1/70/10	28.667	38.6530	1,108.07	33 9100	972.10	-135.97	64 09	6 59%
02/10/15 : 13	28.188	39.1170	1,102.62	33 9100	955.86	-146.76	63.02	6.59%
03/10/15 *.13	28.230	39.4230	1,112.92	33 9100	957 28	-155 64	63 12	6.59%
Total Noncovered	5,018.401		188,728.83		170,174.00	-18,554.83	11,220.30	
01/06/12 13	33.676	38 6860	1,302 78	33.9100	1,141.95	-160 83	75 29	9 29%
01/06/12 13	27.889	38.6860	1,078.91	33.9100	945.72	-133.19	62.36	6.59%
02/09/12 13	27.306	39.4340	1,076.79	33.9100	925.95	-150.84	61 05	%65 9
03/09/12 13	30 128	39.3000	1,184.04	33.9100	1,021.64	-162.40	. 67.36	9 28%
04/11/12 13	31.238	39.1140	1,221.83	33 9100	1,059.28	-162.55	69 84	6.59%
05/09/12 13	31 650	39.5580	1,252.02	33.9100	1,073.25	-178.77	70 76	6.59%
06/11/12 13	31.849	38.0380	1,211.48	33.9100	1,080.00	-131.48	71.21	6.59%
01/11/12	30.809	39.3690	1,212.91	33.9100	1,044.73	-168.18	68.88	6.59%
08/09/12 13	29.790	39.9120	1,188.97	33.9100	1,010.18	-178.79	66.61	6.59%
	28 885	40.1580	1,159.97	33.9100	979.49	-180 48	64 58	6 59%
10/09/12 13	28.924	40.1660	1,161.77	33.9100	980.81	-180.96	64.67	6.59%
11/09/12 13	29.369	40.2890	1,183.26	33.9100	995.90	-187.36	65 66	6.59%
12/11/12	29.002	40.6350	1,178.50	33.9100	983 46	-195.04	64 84	6 59%
£t £t//0/10	27.896	41.0060	1,143.91	33.9100	945.95	-197.96	62.37	6.59%
02/11/13 13	27,993	40.6010	1,136.53	33.9100	949.24	-187.29	65.59	6.59%
03/11/13 13	28.248	40.8550	1,154.07	33.9100	957.89	-196.18	63 16	6.59%
04/09/13 13	27.424	40.9750	1,123.69	33.9100	929.95	-193.74	. 61.32	6.59%
							Pag	Page 6 of 14
B0067701CSF30026	PAR-02-ROLL		ı		Go paperless	Rated Excellent Every Year Since 2007	Clearing through Pershing LLC, a whelly owned subsidiary of The Bank of New You's Melden Carponadan (BAYV Bedon)	Ny owned subsidered of the sub
			ROSS CHARITAB	ROSS CHARITABLE FOUNDATION	ASK ABOUT E-DELIVERY			¥.



Brokerage Account Statement

Statement Period: 12/01/2015 - 12/31/2015

Portfolio Holdings (continued)

Date Acquired	Quantity	Unit Cost	Cost Basis	Market Price	Market Value	Unrealized Gain/Loss	Estimated Estimated Annual Income Vielo	stimated Yield
Exchange-Traded Products (continued)	(continued)							
SPDR SER TR BARCLAYS HIGH YIELD BD ETF	LD BD ETF	(continued)						
05/09/13 13	27.602	41,7450	1,152.24	33.9100	935.98	-216.26	61 71	6.59%
13 13	27.653	39 9970	1,106.05	33.9100	937.71	-168.34	61.83	6.59%
07/10/13 13	28.603	39.1820	1,120.71	33.9100	969 93	-150.78	63.95	6 59%
08/09/13 13	27.308	39.8200	1,087.40	33.9100	926.01	-161.39	90.19	6.59%
09/11/13 13	28.879	39 4390	1,138.97	33.9100	979.29	-159.68	64.57	6.59%
10/09/13 13	28 228	39 8700	1,125.44	33 9100	957.21	-168.23	63,11	9 23%
11/12/13 13	27 324	40 4930	1,106.42	33.9100	926.56	-179.86	61 09	6 29%
12/10/13 13	28 070	40.3920	1,133.79	33 9100	951.85	-181.94	62 76	6.59%
01/07/14 13	27.561	40 5130	1,116.57	33.9100	934.59	-18198	61 62	6.59%
02/11/14 13	27.826	40.5310	1,127.82	33 9 100	943.58	-184.24	62.21	6.59%
03/11/14 13	27 938	41.2700	1,153.00	33 9100	947.38	-205.62	62.46	9 28%
04/09/14 13	27.560	41,2370	1,136.48	33 9100	934.56	-201.92	61.62	6.59%
05/09/14 13	27.606	41 2190	1,137.90	33.9100	936.12	-201.78	57 19	6.59%
06/10/14 13	27.050	41.3490	1,118.49	33.9100	917.27	-201.22	60.48	6.59%
07/10/14 13	27 001	41 5640	1,122.26	33 9100	915.60	-206 66	60.37	6.59%
08/11/14 13	27.926	40.5240	1,131.66	33.9100	946.97	-184.69	62 44	6.59%
09/10/14 13	26.787	41.0170	1,098.71	33.9100	908.35	-190.36	59.89	6.59%
10/09/14 13	28 193	40 2880	1,135.85	33.9100	956 02	-179.83	63 03	6.59%
11/12/14 13	27.910	40 1590	1,120.83	33,9100	946.43	-174.40	62.40	6.59%
12/09/14 13	28.498	39,1760	1,116.43	33.9100	966.36	-150.07	63,73	6.59%
red	1,057.599		42,458.45		35,863.16	-6,595.29	2,364.60	
Total 6,0	6,076.000		\$231,187.28		\$206,037.16	-\$25,150,12	\$13,584.90	
SPDR SER TR BARCLAYS TIIPS ETF			Security	Security Identifier: IPE				
Dividend Option: Cash; Capital Gains Option: Cash 2 608 00 of these shares are in voir margin account	Option: Cash	-	, ∃	CÚSIP 78464A656				
10/12/1013	0.392	54 6940	21.44	64 6300	21.43	8	000	0430/
11/09/10	3.091	55 6490	172.01	54 6300	24:1.7 168.86	-3.15	0.00	0.13%
	2,000,000	52.8440	105,687,95	54.6300	109.260.00	3.572.05	152.19	013%
12/09/10 :13	1.400	55.7140	78.00	54,6300	76.48	-1.52	11.0	0.13%
12/09/10 :13	0 920	53.8150	49.51	54.6300	50.26	0.75	200	0.13%
£1: 11/90/10	4.250	52.9840	225.18	54.6300	232.18	7.00	0.32	0.13%
02/09/11 *.13	2 832	52.5350	148 78	54 6300	154.71	5 93	0.22	0.13%
03/09/11 *.13	4.845	53.5790	259.59	54.6300	264.68	5.09	0.37	0.13%
							Page	Page 7 of 14

PAR-02-ROLL

Portfolio Holdings (continued)

Date Acquired	Quantity	Unit Cost	Cost Basis	Market Price	Market Value	Unrealized Gain/Loss		Estimated Estimated Annual Income Yield	stimated
Exchange-Traded Products	(continued)								
SPDR SER TR BARCLAYS TIIPS ETF	(continued)	η,							
04/11/11 :.13	10.519	53.7280	565.17	54 6300	574.65	9.48		080	0.13%
05/10/11 *.13	10 663	54.8680	585.06	54 6300	582.52	-2.54		0.81	0.13%
£1,* 11/60/90	19.280	54.4910	1,050.59	54.6300	1,053.27	2 68		147	0.13%
£1. 11/21/10	13 822	54.5680	754.24	54,6300	755.10	0.86		1.05	0.13%
£1.* 11/60/80	10.259	56.5860	580.52	54,6300	560.45	-20.07		0.78	0.13%
£t.* 11/11/01	2 872	57.2420	164.40	54.6300	156.90	-7 50		0.22	0.13%
11/09/11	6 053	58.2340	352.49	54.6300	330.68	-21 81		0.46	0.13%
12/09/11 *.13	3.967	58.0490	230.28	54.6300	216.72	-13.56		0.30	0.13%
Total Noncovered 2,	2,095.165		110,925.21		114,458.88	3,533.67		159.44	
04/11/12 13	1,897	58.3500	110.69	54.6300	103.63	-7.06		0.14	0.13%
05/09/12 13	8.458	59.2150	500 84	54.6300	462.06	-38.78		0.64	0.13%
06/11/12 13	13.590	60.1550	817 50	54 6300	742.42	-75.08		1.03	0.13%
07/11/12 13	6.070	60.0100	364.26	54.6300	331.60	-32 66		0.46	0.13%
11/09/12 13	3.347	60.9710	204 07	54.6300	182.85	-21.22		0.25	0.13%
11/27/12 13	400.000	61.0400	24,415.95	54.6300	21,852.00	-2,563.95		30.44	0.13%
12/11/12 13	9.537	61.6680	588.13	54.6300	521.01	-67.12		0.73	0.13%
01/0//13 13	1 129	60 5850	68.40	54.6300	61.68	-6.72		0.00	0.13%
05/09/13 13	6.677	60.2380	402.21	54.6300	364.76	-37.45		0.51	0.13%
06/11/13 13	6.339	57.7410	366.02	54 6300	346.30	-19.72		0.48	0.13%
08/09/13 13	1.734	56.0270	97.15	54.6300	94.73	-2.42		0.13	0.13%
09/11/13 13	5.723	54.2460	310.45	54,6300	312.65	2 20		0.44	0.13%
10/09/13 13	1.072	55.7650	59.78	54,6300	58.56	-1.22		0.08	0.13%
11/12/13 13	2.731	55.8220	152.45	54,6300	149.19	-3.26		0.21	0.13%
12/10/13 13	277.2	54.7190	151.68	54.6300	151.43	-0.25		0.21	0.13%
05/09/14 13	6.041	56.5150	341.41	54,6300	330.02	-11.39		0.46	0.13%
06/10/14 13	15.097	56 5250	853.36	54.6300	824.75	-28.61		1.15	0.13%
07/10/14 13	8.123	56 8150	461.51	54,6300	443.76	-17.75		0.62	0.13%
08/11/14 13	8.312	57 2380	475.76	54 6300	454.09	-21.57		0.63	0.13%
09/10/14 13	4 186	56.8850	238.12	54.6300	228.67	-9.45		0.31	0.13%
Total Covered	512.835		30,979.74		28,016.16	-2,963.58		39.01	
Total 2,	2,608.000		\$141,904.95		\$142,475.04	\$570.09		\$198.45	
Total Exchange-Traded Products	ducts		\$808,099.57		\$775,167.40	-\$32,932.17		\$22,573.71	
			Cost Basis		Market Value	Unrealized Gain/Loss	Accrued Interest	Estimated Annual Income	
Total Portfolio Holdings	St		\$1,293,022.35		\$1,278,231.79	-\$14,790.56	\$0.00	\$31,713.89	
	_								

[·] Noncovered under the cost basis rules as defined below

Securities acquired before 2011 or in retirement accounts are generally not subject to the new cost basis reporting rules set forth in the Internal Revenue Code of 1986, as amended ("IRC") (incorporating amendments enacted by P.L.110-343, the Emergency Economic Stabilization Act of 2008) and are, therefore, considered "noncovered," under the new cost basis reporting rules, and marked or denoted as such.

Page 8 of 14





PAR-02-ROLL